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HX 40,048 86,247 41,093 45,154
RIRET1T 6 15 9 6
RIRET2T 26 54 25 29
AIEET3T 176 581 283 208
RIRET4T 400 958 478 480
B 608 1,608 795 813
REH 2,673 6,005 2,792 3,213
L&A 4,342 9,464 4,393 5,071
5E 2,645 5,938 2,871 3,067
B AN 1,314 2,856 1,337 1,519
BERT 1,380 1,963 951 1,012
BER2T 766 1,381 664 717
BERST 596 1,401 673 728
B 2,742 4,745 2,288 2,457
BEXRE 276 653 319 334
= 2,214 4976 2,356 2,620
hERE 649 1,443 669 774
e 2,478 5,084 2,445 2,639
25 L ET 2,346 5,103 2,439 2,664
B &AL BT 76 154 64 90
HEFILET1T 560 1,200 563 637
HEFILET2T 621 1,288 601 687
HEZFILAT3T 653 1,493 736 757
g 1,910 4,135 1,964 2,171
B & it B Fr ET 686 1,564 753 811
BHEREBET1T 579 1,176 565 611
BHERERET2T 773 1,744 830 914
BHERERETST 779 1,590 720 870
BHERERET4T 517 955 447 508
HEKERETST 845 1,699 810 889
HEERET6T 878 1,908 922 986
BHERERET7T 880 1,832 910 922
HERERETST 69 209 101 108
£t| 5320 11,113 5,305 5,808
HEF R FET 1,989 4,140 2,031 2,109
S|EFET1T 628 1,585 792 793
S|EFET2T 769 1,740 816 924
S|EFET3 T 731 1,377 636 41
g 2,128 4,702 2,244 2,458
ERE1T 579 1,309 628 681
EIRET2T 387 1,035 516 519
EREIST 509 1,327 651 676
EIRETAT 688 1,461 651 810
EIZEIST 533 1,101 565 536
g 2,696 6,233 3,011 3,222
ME A 2,918 6,275 2,986 3,289
J\THET1T 37 39 15 24
J\THET2T 26 59 30 29
J\THEI3T 51 112 50 62
B 114 210 95 115
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